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RIART= W 787 187 600 Kg |EE 1,612 108| & 1,944 432
BB\ 1,588 1,588 Kg 3,791 579
BEEIZED 499 188 311 Kg |BRS 810 594 1,782 324
RAROL® 140 3 137 Kg [&=E 1,836 432 2,322 1,008
BIEV¥H 313 23 290 Kg |EBRS 1,296 432 2,538 540
BTz 1 1 Kg |E&E 2,700 2,268
l3H 540 126 414 Kg |EE 1,404 540 3,780 648
PHIEE 52 51 1] Keg |EE 864 162 324
7=Z 471 308 163 Kg [E&E 2,200 324 2,484 1,944
BIESC 13 13 Kg |BE 540 108
gl 15 15| Kg i 25,920 16,200
BRO 76 76| Kg |EE 9,183 4,325|5& 12,960 5,000
BEDAED 290 12 278 Kg |EBRS 1,296 1,944 324
WhL 840 840 Kg 2,203 180
W L 110 110] Kg 405 247
Hd L 440 2 438 Kg |E=E 180 720 576
xE 779 779 Kg 605 259
ANeFo) 330 3301 Kg 1,296 482
ERALIAV) 100 100] Kg 1,037 972
FA WD 684 660 24| Kg |RI& 4,320 810 2,430 2,025
BB 180 180] Kg 2,484 1,080
{AHELCA 289 185 104 Kg [S®E 1,804 1,415|F 3,942 3,563
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254|ED12ELCA 336 336 Kg 2Pl 3,186 1,220
3031 A 7Ly 25 22 3l Kg [R& 513 486 | 756
305[£Aah 0% 3 3] Kg FE 5,940
315|7: b5 6 43 43|  Kg = I 3,024
3191 h o 66 66 Kg KBR 2,052 1,188
332|115 WA EF 153 153 Kg i 2,268 2,160
351|4£ 8 40 30 10 Kg |[®E 4,644 3,564 (& [F 3,888
3541 <Y 18 10 8] Kg |[FE 1,404 = 1,404
3/5|HEY) 165 15 150 Kg [ZA0 324 FH - PE 1,620 600
356|L LA 30 30 Kg SER 1,404 1,080
3577/~ E 12 12| Kg FEE 1,782 1,728
358| KE 20 20 Kg A0 2,160 1,728
401|H W 60 60 Kg FAN 19,440 1,512
4025 5 &E 15 151 Kg A0 5,616 4,320
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A—JLWLh 10 10| Kg 2P 810

AEA L 40 401 Kg JbiF 1,390 162
AERBAT AT 238 238 Kg 2P 2,880 432
ARCERZV 43 431 Kg HE 1,680 1,500
E A AE 30 301 Kg F 1,050 900
TRE 20 201 Kg JbiF 972 756
AT Z 218 218 Kg 2P 2,500 980
A E T 87 87| Kg 7 - dbF 4,212 1,100
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70110 BA 1,067 1,051 16| Kg |EE 4,752 2,210| &= 3,240 2,430
704\ LETF 12 12 Kg =) 1,836
710(2 2 AT 70 701 Kg =4 1,404 1,260
BlEFAI L 50 501 Kg EE 960 903
755|FH&» C 39 391 Kg EE 775 710
7611 b BHAEL 11 11 Kg & 3,471
801 [3BAT = 1S 152 152] Kg FE-mA 1,728 540
802 1 30 301 Kg blo ] 1,350 1,296
805 = 1E 44 44  Kg bF 972 743
810|FAKXF 246 246 Kg JbiF 2,638 1,350
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